

VYPOČÍTEJTE $\sum_{i=1}^n (3i + 2)$

$$\sum_{i=1}^n (3i + 2) = \sum_{i=1}^n 3i + \sum_{i=1}^n 2$$

$$\sum_{i=1}^n (3i + 2) = (3 \cdot 1 + 2) + (3 \cdot 2 + 2) + \dots + (3n + 2) =$$

$$= (3 \cdot 1 + 3 \cdot 2 + \dots + 3n) + \underbrace{(2 + 2 + \dots + 2)}_n =$$

$$= \sum_{i=1}^n 3i + \sum_{i=1}^n 2 = 3 + 6 + \dots + 3n +$$

$$2n = \frac{n}{2}(3n + 3) + 2n =$$

$$S_n = \frac{n}{2}(a_1 + a_n) = \frac{n(3n + 3) + 4n}{2} =$$

$$= \frac{n}{2}(3 + 3n) = \frac{n}{2}(3n + 3) = \frac{3n^2 + 3n + 4n}{2} =$$

$$= \frac{3n^2 + 7n}{2} = \frac{n(3n + 7)}{2} \quad \left[\sum_{k=1}^n k = nk \right]$$

VYPOČÍTEJTE $\sum_{i=1}^n (3i + 2)$

$$\sum_{i=1}^n (3i + 2) = \sum_{i=1}^n 3i + \sum_{i=1}^n 2$$

$$\sum_{i=1}^n (3i + 2) = (3 \cdot 1 + 2) + (3 \cdot 2 + 2) + \dots + (3n + 2) =$$

$$= (3 \cdot 1 + 3 \cdot 2 + \dots + 3n) + \underbrace{(2 + 2 + \dots + 2)}_n =$$

$$= \sum_{i=1}^n 3i + \sum_{i=1}^n 2 = (3) + (6) + \dots + (3n) +$$

$$2n = \frac{n}{2}(3n+3) + 2n =$$

$$S_n = \frac{n}{2}(a_1 + a_n) = \frac{n(3n+3) + 4n}{2} =$$

$$= \frac{n}{2}(3 + 3n) = \frac{n}{2}(3n+3) = \frac{3n^2 + 3n + 4n}{2} =$$

$$= \frac{3n^2 + 7n}{2} = \frac{n(3n+7)}{2} \quad \left[\sum_{k=1}^n k = nk \right]$$